Prénom :........cccceeeeeeee. date: ..... /oid ...

R CHRONMEOMAATH B
All+1l=... K|7+4=...
B|2+2=... L|9-1=...
Cl3+3=.. M|9-2=...
D{3+2=..... N|20+8=.....
E|4+4=... 0[30+7=.....
F[{5+2=.... P|l140+3=.....
G|4+5=... q|20*20"
H|10+1=... g |30*11=
| |6+6=.... S |18 -3=.....
J |7+3=.... T|50-1=.....

Score ... / 20

Prénom :........cccooeeeeneeee. date:.../../...
T CHRONOMATEH B
All+1=... _ K|7+4=...
B|2+2=.... QID L |9-1=...
C|3+3=.... M|[9-2=....
D[(3+2=.... N|20+8=.....
E |4+4=.... O(30+7=....
F [5+2=.... Pl140+3=.....
G|4+5=.... Q[20+20=.....
H|{10+1=..... R|130+11=.....
| |6+6=..... S |18 -3=.....
] | 7+3=.... T(150-1=....
Score ... / 20




CHRONOMATH B
CORRECTION

1+1=2

2+2=4

/] +4 =

3+3=6

9-1=8

3+2=5

9-2=7

4+ 4 =

20+ 8 =28

5+42=7

30+ 7 =37

4+5=9

40+ 3 =43

10+1=11

20+ 20=40

6+6=

30+11 =41

/7+3=10

18-3 =15

50-1=49




